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1. Which view of administration states

that it consists of all the activities

pertaining to administration.

(A) Narrower view

(B) Wider view

(C) Managerial view

(D) Integral view

2. The basic premise of New Public

Management is :

(A) Open Government

(B) Paternalistic Government

(C) Large Government

(D) Government as social agent

1. iz'kklu Eg.kts iz'kkluk'kh laca/khr vlysY;k

loZ œfr gÓk iz'kklukpk n`"Vhdksu Eg.kts %

(A) ladwfpr n`"Vhdksu

(B) foLr`r n`"Vhdksu

(C) O;oLFkkidh; n`"Vhdksu

(D) ,dkRe n`"Vhdksu

2. uoyksd O;oLFkkiukpk ik;k Eg.kts %

(A) [kqys 'kklu

(B) iSr`d 'kklu

(C) foLr`r 'kklu

(D) lekt nwr vls 'kklu

Public Administration
Paper II

yksd iz'kklu
iz'uif=dk II

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question

carrying Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k iÈkkl (50) cgqi;kZ;h iz'u fnysys vkgsr- izR;sd iz'ukyk nksu (2)

xq.k vkgsr- loZ iz'u lksMok-
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3. Which of the functions staff agencies

do not include ?

(A) Co-ordination

(B) Planning

(C) Execution

(D) Supervision

4. Riggs ‘Prismatic society’ represents :

(A) Developing society

(B) Developed society

(C) Underdeveloped society

(D) Modern society

5. A theory of public organization in

tune with consumer interest and

individual preferences has been

constructed by :

(A) Behavioural approach

(B) Public choice approach

(C) Systems approach

(D) Human relations approach

3. [kkyhyiSdh dks.krs dk;Z lYykxkj ?kVdkps

ukgh \

(A) leUo;

(B) fu;kstu

(C) vaeyctko.kh

(D) i;Zos{k.k

4. fjXtps «ks«dkRe lekt Eg.kts %

(A) fodlu'khy lekt

(B) fodlhr lekt

(C) vfodlhr lekt

(D) vk/kqfud lekt

5. xzkgd fgr vkf.k xzkgd ilarh ·koj vkËkkj«syk

iz'kklukpk flºkar Eg.kts %

(A) orZ.kwd n`"Vhdksu

(B) yksd&fuoM n`"Vhdksu

(C) O;oLFkk n`"Vhdksu

(D) ekuoh laca/k n`"Vhdksu
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6. Span of Control depends upon :

I. Location

II. Personality of personnel

II. Organizational functions

(A) I and II

(B) I and III

(C) I, II and III

(D) II and III

7. Match the List I with List II and

select the correct answer from the

code given below :

List I List II

(a) Argyris 1. Job enrichment

(b) Maslow 2. Job enlargement

(c) Herzberg 3. Theory X and

Theory Y

(d) McGregor 4. Maturity-

Immaturity

5. Hierarchy of

needs

Codes :

(a) (b) (c) (d)

(A) 2 3 1 4

(B) 3 2 4 5

(C) 4 5 2 3

(D) 4 5 1 3

6. fu;a=.k d{kk [kkyhy iSdh dks.kR;k ?kVdkoj

voyacwu vlrs %

I. LFkku

II. deZpkÚ;kps O;fDreRo

III. la?kVukRed dk;Z

(A) I vkf.k II

(B) I vkf.k III

(C) I, II vkf.k III

(D) II vkf.k III

7. lwph ÿekad I e/khy tksMh lwph ÿekad II

e/khy ;ksX; i;kZ;k'kh tqˇowu [kkyhy

ladsrkeËkwu ;ksX; mŸkj fuoMk %

lwph I lwph II

(a) vjX;kjhl 1- dk;Zle`ºhdj.k

(b) ekLyks 2- dk;Z foLrkj

(c) g>ZcxZ 3- flºkar X vkf.k

flºkar Y

(d) eWdxzsxkWj 4- izxYHkrk&vizxYHkrk

5- xjtsps inlksiku

(a) (b) (c) (d)

(A) 2 3 1 4

(B) 3 2 4 5

(C) 4 5 2 3

(D) 4 5 1 3
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8. “Work division is the foundation of

organization, indeed the reason for

organization.” Who said so :

(A) Fayol

(B) Gulick

(C) Taylor

(D) Follett

9. Who observed that “comparative

public administration started with

no paradigm of its own and

developed none.”

(A) R.T. Golembiewski

(B) Peter Savage

(C) Ferrel Heady

(D) Fred Riggs

8. ^dk;Z&foHkkx.kh gk la?kVuspk ik;k vkgs-* vlsr

er dks.kh ekaMys \

(A) Qs;kWy

(B) xqfyd

(C) Vsyj

(D) QkWysV

9. ^^r qyukRed yk sdiz'kklu gs Lor%P;k

fo'ks"k ueqU;k}kjs r;kj >kysys ukgh vkf.k

gks.kkjgh ukgh-** vls dks.kkP;k fun'kZukl

vkys-

(A) jkWcVZ Vh- xksysEchoLdh

(B) fiVj lsost~

(C) Qsjsy gsMh

(D) ›sM fjXt
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10. The model by Riggs, which bears the

features of both; agraria and

industria is called as :

(A) Agro-Industria model

(B) A-I model

(C) Transitia model

(D) Middle range model

11. The dominant pattern of recruitment

in the USA is the application of :

(A) Spoils system

(B) Special course certificate system

(C) Patronage system

(D) Managerial approach system

12. The legislature plays fundamental

role in policy-making in :

(A) India

(B) US

(C) UK

(D) France

10. 'ksrh vkf.k vkS|ksfxd gh nksUgh oSf'k"VÓs

vlysY;k fjXt~ P;k ueqU;kyk Eg.krkr %

(A) œ"kh&vkS|ksfxd izk:i

(B) ,&vk; izk:i

(C) laÿe.k izk:i

(D) e/;eekxZ izk:i

11. lsodHkjrhP;k vesfjdsrhy iºr izkeq[;kus

[kkyhy iºrhpk okij djrs-

(A) rqqVhpk okVk iºrh

(B) fof'k"V vH;klÿe izek.ki= iºrh

(C) vkJ;nkrk iºrh

(D) O;oLFkkidh; n`"Vhdksu iºrh

12. /kksj.k fufeZrhe/;s fof/keaMˇkph ewyHkwr Hkqfedk

dks.kR;k ns'kkar vlrs \

(A) Hkkjr

(B) vesfjdk [U.S]

(C) baXyaM

(D) ›kUl
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13. lwph ÿekad I e/khy tksMh lwph ÿekad II

e/khy ;ksX; i;kZ;k'kh tqˇowu [kkyhy

ladsrkeËkwu ;ksX; mŸkj fuoMk %

lwph I lwph II

(a) QqYVu lferh 1- 1937

vgoky

(b) czk≈Uyks lferh 2- 1944

vgoky

(c) gwoj vk;ksx 3- 1968

(izFke) vgoky

(d) vW'kVu lferh 4- 1936

 vgoky

5- 1949

(a) (b) (c) (d)

(A) 4 2 3 1

(B) 4 3 2 5

(C) 3 2 1 5

(D) 3 1 5 2

13. Match the List I and List II and

select the correct answer from the

codes given below :

List I List II

(a) Fulton Committee 1. 1937

Report

(b) Brownlow 2. 1944

Committee

Report

(c) First Hoover 3. 1968

Commissioner

Report

(d) Assheton 4. 1936

Committee

Report

5. 1949

(a) (b) (c) (d)

(A) 4 2 3 1

(B) 4 3 2 5

(C) 3 2 1 5

(D) 3 1 5 2

http://www.studentbounty.com/
http://studentbounty.com/


7 [P.T.O.

NOV - 21211/II

14. Total period of formal training for

British Civil Servants is :

(A) 24 months

(B) 12 months

(C) 10 months

(D) 5 months

15. Assertion (A) : In the USA there

is no clear distinction between ‘Head

of the State’ and ‘head of

Government’.

Reason (R) : In the USA both the

offices are merged.

Answer the following by using the

code give below :

(A) Both (A) and (R) are True and

(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

14. fczVue/khy ukxjh lsodkapk vkSipkfjd

izf'k{k.kkpk dky [kaM [kkyhy vkgs %

(A) 24 efgus

(B) 12 efgus

(C) 10 efgus

(D) 5 efgus

15. fo/kku (A) : vesfjdsr (la;qDr laLFkkus)

foHkkx izeq[k vkf.k 'kklu izeq[k ·kar Li"V

Qjd ukghA

dkj.k (R) : vesfjdsr (la;qDr laLFkkus) nksUgh

dk;kZy;kaps ,d=hdj.k vkgs-

[kkyhy lafgrspk okij d:u ;ksX; mŸkj

fygk  %

(A) nksUgh (A) o (R) cjkscj vkgs o (R)

gs (A) ps ;ksX; Li"Vhdj.k vkgs-

(B) nksUgh (A) o (R) cjkscj vkgs ijarq (R)

gs (A) ps ;ksX; Li"Vhdj.k ukgh

(C) (A) cjkscj vkgs] i.k (R) pwd vkgs

(D) (A) pwd vkgs] i.k (R) cjkscj vkgs
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16. Assertion (A) : Development

administration makes administrative

Tribunal a necessity.

Reason (R) : Development

administration reconciles different

social interests.

Answer the following question by

using the code below :

(A) Both (A) and (R) are true and

(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

17. The main aim of ‘Project

Management’ in the development

administration is :

(A) Change in the speed of

development

(B) Change in the strategy

(C) Change in the policy

(D) Change in the resources

16. fo/kku (A) : fodkl iz'kklu gs iz'kkldh;

yoknkps egRo ok<ors-

dkj.k (A) : fodkl iz'kklu fofHkUu lkekftd

fgrkaps iqulZek;kstu djrs

[kkyhy lafgrspk okij d:u R;k [kkyhy

iz'ukps mŸkj fygk %

(A) nksUgh (A) o (R) cjkscj vkgs o (R)

gs (A) ps ;ksX; Li"Vhdj.k vkgs

(B) nksUgh (A) o (R) cjkscj vkgs ijarq (R)

gs (A) ps ;ksX; Li"Vhdj.k ukgh

(C) (A) gs cjkscj vkgs ijarq (R) gs pwd vkgs

(D) (A) gs pwd vkgs ijarq (R) gs cjkscj vkgs-

17. fodkl iz'kklukar izdYi O;oLFkkiukapk eq[;

gsrw [kkyhy vkgs-

(A) fodklkP;k xrhe/;s cny

(B) O;wgjpusr cny

(C) /kksj.kkr cny

(D) lalk/kukar cny
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18. The challenges before development

administration is :

(A) Effective implementation of

programmes

(B) Revision of goals with reference

to the review

(C) Reaching the unreach

(D) Control of expenditure

19. Development administration in

India suffers mainly from the lack

of :

(A) Development priorities

(B) Development machinery

(C) Popular support

(D) Technology input

20. Development Administration is

distinguished from traditional

administration by its :

(A) Planning component

(B) Experimentation

(C) Openness

(D) Need for coordination

18. fodkl iz'kklukleksjhy vkOgku [kkyhy

vkgs %

(A) dk;Zÿekph dk;Z{ke vaeyctko.kh

(B) vgokykuqlkj mÌh"Vkar cny

(C) oafprki;±r iksgksp.ks

(D) [kpkZoj fu;a=.k

19. Hkkjrke/;s fodkl iz'kklukr eq[;Ros [kkyhy

=qVh vkgs %

(A) fodklkrhy vxzÿe

(B) fodkl ;a=.kk

(C) yksd ifBack

(D) rkaf=d vknku

20. fodkl iz'kklu ikjaikfjd iz'kklukis{kk

[kkyhy ckcrhr osx š vkgs-

(A) fu;kstukpk ?kVd

(B) iz;ksxf'kyrk

(C) [kqysi.kk

(D) leUo;kph vko';drk
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21. Hkkjrh; fu;kstuiºr [kkyhy izek.ks vkgs-

1. lwpukRed

2. ÿeiºr

3. funsZ'kd

4. yksd'kkgh

[kkyhy lafgrse/kwu ;ksX; vUrj fuoMk %

(A) 1

(B) 1 vkf.k 2

(C) 3 vkf.k 4

(D) 4

22. fe‹kz vFkZO;oLFksrhy fu;kstukar %

(A) lkoZtfud o [kktxh foHkkxkauk leku

Hkwfedk vlrs

(B) lkoZtfud foHkkxkyk vf/kdrk vlrs

(C) lkoZtfud foHkkx fu;a=.kkRed Js.kh

vlrs

(D) nksUgh foHkkxkauk eqDr lgHkkx vlrks

21. The Indian planning process is :

1. Indicative

2. Sequential

3. Directive

4. Democratic

Choose the correct answer from the

code given below :

(A) 1

(B) 1 and 2

(C) 3 and 4

(D) 4

22. Mixed economic planning gives :

(A) equal role to both public and

private sector

(B) gives edge to public sector

(C) controlling position to public

sector

(D) Free play to both the section
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23. The Central Vigilance Commission

was established in :

(A) 1947

(B) 1948

(C) 1951

(D) 1953

24. The office of ‘District Collector’ was

set up in India in :

(A) 1773

(B) 1772

(C) 1600

(D) 1858

25. ‘Lokpal Bill’ was first introduced in

India in :

(A) May 1968

(B) August 1971

(C) July 1977

(D) December 1989

23. dasfÊ; lrdZrk vk;ksxkph LFkkiuk [kkyhy o"kksZ

>kys %

(A) 1947

(B) 1948

(C) 1951

(D) 1953

24. ftykf/kdkj;kP;k dk;kZy;kph LFkkiuk Hkkjrkr

[kkyhy o"khZ dj.;kar vkys %

(A) 1773

(B) 1772

(C) 1600

(D) 1858

25. Hkkjrke/;s yksdiky fo/ks;d [kkyhy o"khZ

ekaM.;kar vkys %

(A) es 1968

(B) vkWxLV 1971

(C) tqyS 1977

(D) fMlsacj 1989
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26. The chairman of State Public

Service Commission can be removed

by :

(A) President

(B) Chief Minister

(C) Governor

(D) Chief Justice

27. Kothari Committee was appointed

in :

(A) 1974

(B) 1975

(C) 1977

(D) 1978

28. ‘Allocation of seats in Upper House’

is included in which schedule of

Indian Constitution.

(A) Ist

(B) IInd

(C) IIIrd

(D) IVth

26. jkT; yksdlsok vk;ksxkP;k v/;{kkyk deh

dj.;kps vf/kdkj dks.kkl vkgsr \

(A) jk"V™irh

(B) eq[;ea=h

(C) jkT;iky

(D) eq[; U;k;k/kh'k

27. dksBkjh lferhph fu;qDrh [kkyhy o"khZ dj.;kar

vkys %

(A) 1974

(B) 1975

(C) 1977

(D) 1978

28. Hkkjrh; jkT;?kVusP;k [kkyhy ifjf'k"Vkar ojhy

lHkkx`gkrhy tkxk&okV.k iMnk lekfo"V

dsysyh vkgs %

(A) ifjf'k"V 1

(B) ifjf'k"V 2

(C) ifjf'k"V 3

(D) ifjf'k"V 4
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29. The Budget system was first

introduced in India by :

(A) Financial Resolution 1860

(B) Government of India Act 1919

(C) Lee Commission 1923

(D) Constitution of India 1950

30. National Development Council was

set up in India for plan :

(A) Formulation

(B) Evaluation

(C) Co-ordination between centre

and state

(D) Execution

31. A writ issued to public official to do

something is called :

(A) Habeas Corpus

(B) Certiorari

(C) Mandamus

(D) Injunction

29. Hkkjrkr vankti=d iºr [kkyhy ekxkZus lq:

>kyh %

(A) foŸkh; Bjko] 1860

(B) Hkkjr 'kklukpk dk;nk] 1919

(C) yh vk;ksx] 1923

(D) Hkkjrh; jkT;?kVusr rjrwn] 1950

30. jk"V™h; fodkl eaM.kkph fu;kstukP;k lanHkk±r

[kkyhy dkj.kklkBh dj.;kar vkys %

(A) vkjk[kMk fufeZrh

(B) ewY;kadu

(C) dsaÊ&jkT; leUo;

(D) vaeyctko.kh

31. 'kkldh; vf/kdkÚ;kyk dk;Z dj.;kpk vkns'k

Eg.kts %

(A) gschvl dkWiZl (canh izR;{khdj.k)

(B) lfVZvksvksjh (mRisz{k.k)

(C) e°Msel (ijekns'k)

(D) batad'ku (izfr"ks/k)
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32. Which of the following category is

included in the 2011 Caste based

Census ?

(A) Scheduled Castes

(B) Scheduled Tribes

(C) Other backward classes

(D) All of the above

33. Which Constitutional Amendment

Act provided constitutional status to

rural local institutions in India ?

(A) 64th

(B) 72th

(C) 73rd

(D) 74th

34. PRl’s own resources of finance

are :

(A) Fee and Taxes

(B) Loans

(C) State Grants

(D) Central Grants

32. 2011P;k tkrh vk/kkjhr tux.kuse/;s

[kkyhyiSdh dks.kR;k izoxkZpk lekos'k dsyk

vkgs \

(A) vuqlwfpr tkrh

(B) vuqlwfpr tekrh

(C) brj ekxkl oxZ

(D) ojhy loZ

33. Hkkjrke/;s xzkfe.k LFkkfud 'kklukyk ?kVukRed

ntkZ dk s.kR;k ?kVuk nq#Lrh dk;nÓkus

foˇkyk %

(A) 64oh ?kVuk nq#Lrh

(B) 72oh ?kVuk nq#Lrh

(C) 73oh ?kVuk nq#Lrh

(D) 74oh ?kVuk nq#Lrh

34. iapk;rh jkt laLFkkaps Lor%ps mRiUukps ekxZ

[kkyhy vkgsr %

(A) 'kqYd o dj

(B) dtZ

(C) jkT; vuqnku

(D) dasÊh; vuqnku
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35. Sources of Hypothesis are :

(A) General Culture

(B) Normative Theories

(C) Authority

(D) Reliability

36. What is not the aim of social

research ?

(A) to understand the functioning

of society

(B) to evaluate the social problems

(C) documentation of problem

(D) to study the individual

behaviour and social action

37. The new research technique is

the :

(A) Case study technique

(B) Project technique

(C) Computer technique

(D) Management technique

35. x`fgrdkpk mxe [kkyhy vkgs %

(A) lkekU; laLœrh

(B) vkn'kZ flºkar

(C) vf/kdkj

(D) voyafcrk

36. lkekftd la'kks/kukpk dks.krk gsrw ulrks \

(A) lektkP;k dk;kZph ekfgrh let.ks

(B) lkekftd leL;kaps ewY;kadu

(C) leL;kaph uksan

(D) lkekftd œrh vkf.k O;fDrps orZu

·kpk vH;kl

37. la'kks/kukps uos ra= [kkyhy vkgs %

(A) ?kVuk vH;kl ra=

(B) izdYi ra=

(C) lax.kd ra=

(D) O;oLFkkiu ra=
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38. Lottery method is :

(A) Simple random sampling

(B) Multi-stage sampling

(C) Multi-phase sampling

(D) Non-probability sampling

39. First Chairman of Central Social

Welfare Board was :

(A) Rajkumari Amrit Kaur

(B) Aruna Asafali

(C) Durga Bai Deshmukh

(D) Sucheta Kriplani

40. To encourage small-scale and

cottage industries was the main

thrust of the :

(A) Industrial Policy Resolution,

1956

(B) Industrial Policy Statement,

1977

(C) Industrial Policy of 1980

(D) New Economic Policy of 1991

38. lksMr iºr Eg.kts %

(A) lk/kh vfu;fer fuoM

(B) cgqy VIik fuoM

(C) cgqy fLFkrh fuoM

(D) laHkkO;rk fujis{k fuoM

39. dsafÊ; lekt dY;k.k eaMykps ifgys v/;{k

[kkyhyiSdh dks.k gksR;k \

(A) Jherh jktdqekjh ve`r dkSj

(B) Jherh v#.kk vklQvyh

(C) Jherh nqxkZckbZ ns'keq[k

(D) Jherh lqpsrk œiykuh

40. y?kq vkf.k dqVhj m|ksxkr izksRlkgu ns.ks gk

[kkyhy /kksj.kkpk eq[; mÌs'k gksrk %

(A) Hkkjrh; vkS|ksfxd /kksj.kkpk Bjko] 1956

(B) Hkkjrh; vkS|ksfxd fuosnu] 1977

(C) Hkkjrh; vkS|ksfxd /kksj.k] 1980

(D) uo&vFkZ /kksj.k] 1991
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41. The basic operating principle under

liberalisation is :

(A) Regulated economy

(B) Market economy

(C) Participatory economy

(D) Totally deregulated economy

42. Disinvestment means :

(A) to indicate the process of

privatization

(B) to indicate the process of

globalization

(C) to indicate the over-

capitalization

(D) to indicate the inefficient

management

43. Who considered private property to

be the cause of all social and

economic evils ?

(A) Simon

(B) Marx

(C) Dimock

(D) Amartya Sen

41. mnkjhdj.kkps eq[; dk;Zdkjh rRo [kkyhy

vkgs %

(A) fu;af=r vFkZO;oLFkk

(B) cktkj vFkZO;oLFkk

(C) lgHkkxh vFkZO;oLFkk

(D) laiw.kZ fofu;a=.k vFkZO;oLFkk

42. fuxq±ro.kwd Eg.kts %

(A) [kktxhdj.kkph izfÿ;k

(B) tkxfrdhdj.kkph izfÿ;k

(C) HkkaMoˇ vkf/kD; n'kZdrk

(D) O;oLFkkiu vdk;Z{kerkn'kZdrk

43. ;kaP;k ers loZ lkekftd vkf.k vkfFkZd vfj"Vkaps

ew̌  [kktxh laiŸkh vkgs-

(A) lk;eu

(B) ekDlZ

(C) fMekWd

(D) veR;Z lsu
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44. Answer the question by using the

code given below :

Assertion (A) : Globalization

provides more goods and services.

Reason (R) : Globalization has

increased the exploitation of the

poor.

Code :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true (R)

is not the correct explanation

of (A)

(C) A is true but (R) is false

(D) A is false but (R) is true

45. Match the List I and List II correctly

and select the correct answer from

the code given below :

List I List II

Community Development Focus of the

Experiment Experiment

(a) Shantiniketan 1. Demonstration

(b) Kosamba 2. Culture

(c) Nilekhori 3. Agriculture

(d) Martandom 4. Use of machine

Code :

(a) (b) (c) (d)

(A) 3 4 1 2

(B) 2 3 4 1

(C) 1 2 3 4

(D) 1 4 3 2

44. [kkyhy lafgrsps okij d#u R;k[kkyhy iz'ukaps
mŸkj fygk %
fo/kku (A) : tkxfrdhdj.kkeq š oLrq o lsok
vf/kd izek.kkar fuekZ.k gksrkr-
dkj.k (R) : tkxfrdhdj.kkps xjhckps 'kks"k.k
ok<ysys vkgs-
lafgrk %
(A) nksUgh (A) vkf.k (R) cjkscj vkgsr] i.k

(R) gs (A) ps ;k sX; Li"Vhdj.k
vkgs

(B) nksUgh (A) o (R) cjkscj vksgr i.k (R)

gs (A) ps ;ksX; Li"Vhdj.k ukgh
(C) (A) gs cjkscj vkgs i.k (R) gs pwd

vkgs
(D) A gs pwd vkgs i.k (R) gs cjkscj

vkgs
45. lwph I e/khy tksMh lwph II e/khy ;ksX;

i;kZ;k'kh tw̌ owu [kkyhy lafgrso:u ;ksX; mŸkj
fuoMk %

lwph I lwph II

(lkewfgd fodkl (iz;ksx fn'kk)
;kstuk iz;ksx)
(a) 'kkUrhfudsru 1- izkR;f{kd
(b) dkslack 2- laLœrh
(c) fuys[kksjh 3- œf"k
(d) ekr±Mke 4- ;a=kpk okij
lafgrk %

(a) (b) (c) (d)

(A) 3 4 1 2

(B) 2 3 4 1

(C) 1 2 3 4

(D) 1 4 3 2
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46. The 64th Constitutional Amendment

Bill was introduced in Lok Sabha by

the :

(A) Indira Gandhi Government

(B) Rajiv Gandhi Government

(C) V.P. Singh Government

(D) Narsimha Rao Government

47. Political education through local

government (Ripon) means :

1. Increased representation

2. Emphasis on deliberative

functions

3. Accommodating local will

4. Accepting responsibility for

official acts

Choose the correct answer from the

code given :

(A) 1

(B) 2 and 3

(C) 2

(D) 3 and 4

46. 64 os ?kVuk nq#Lrh fo/ks;d yksdlHksr dks.kR;k

'kklukrs ekaMys \

(A) bafnjk xka/kh 'kklu

(B) jktho xka/kh 'kklu

(C) Ogh- ih- flax 'kklu

(D) ujflag jko 'kklu

47. LFkkfud 'kklukrwu jktdh; f'k{k.k Eg.kts %

1. izfrfuf/kRokr ok<

2. ppkZRed dk;kZoj tksj

3. LFkkfud f'k{k.kkpk lekos'k

4. 'kkldh; dk;kZph tckcnkjh Lohdkj.k

[kkyhy lafgrs e/kwu ;ksX; i;kZ; fuoMk %

(A) 1

(B) 2 vkf.k 3

(C) 2

(D) 3 vkf.k 4
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48. The essence of 73rd and 74th

Constitutional Amendment Act is

that which has :

(A) Rationalized local government

system

(B) Constitutional status to local

government

(C) Made local govt. more

representative

(D) Realized social justice through

reservation

49. Local government employees in

France enjoy :

(A) Full political freedom

(B) Freedom to vote

(C) No political freedom

(D) No political freedom to senior

officers

50. Assertion (A) : Strong local

government makes national

government strong.

Reason (R) : Local and National

Systems are independent :

Answer the question by using the

codes below :

(A) Both (A) and (R) are true and

(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

48. 73 o 64O;k ?kVuk nq#Lrhps lkj [kkyhy izek.ks
vkgs %

(A) LFkkfud 'kklu O;oLFksps lqlaxfrdj.k

(B) LFkkfud 'kklukyk ?kVukRed ntkZ

(C) LFkkfud 'kklukP;k izfruhf/kdrsr ok<

(D) vkj{k.kkarwu lkekftd U;k;kph iwrZrk

49. ›kUle/khy LFkkfud 'kklukrhy deZpkjh %

(A) iw.kZ jktdh; Lokra´;

(B) ernkrkpk gDd

(C) jktdh; Lokrá ;kpk vHkko

(D) ofj"B vf/kdkÚ;k ackcr jktdh;
Lokra´;kpk vHkko

50. fo/kku (A) : izHkkoh LFkkfud 'kklu jk"V™h;
'kklu izHkkoh djrs-

dkj.k (R) : LFkkfud 'kklu o jk"V™h; 'kklu
Lora= vkgsr-

lafgrspk okij d:u R;k[kkyhy iz'ukps mŸkjs
fygk %

(A) nksUgh (A) o (R) cjkscj vkgs o (R)

gs (A) ps ;ksX; Li"Vhdj.k vkgs

(B) nksUgh (A) o (R) cjkscj vkgs ijarq (R)

gs (A) ps ;ksX; Li"Vhdj.k ukgh

(C) (A) gs cjkscj vkgs ijarq (R) gs pwd
vkgs

(D) (A) gs pwd vkgs (R) gs cjk scj
vkgs
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Instructions for the Candidates
1. Write your Seat Number in the space

provided on the top of this page. Write
your Answer Sheet No. in the space
provided for Answer Sheet No. on the
top of this page.

2. Write and darken Test Booklet No. on
OMR Answer Sheet.

3. This paper consists of Fifty (50)
multiple choice type of questions.

4. Each item has four alternative
responses marked (A), (B), (C) and (D).
You have to darken the responses as
indicated below on the correct
response against each item.

Example : A B C D

Where (C) is the correct response.
5. Your responses to the items for this

paper are to be indicated on the
Answer Sheet only. Responses like ( × )

( ü) ( / ) and light shaded responses

will not be considered/evaluated.
6. Read instructions given inside

carefully.
7. One Sheet is attached at the end of the

booklet for rough work.
8. You should return the test booklet and

answer sheet both to the invigilator
at the end of the paper and should not
carry any paper with you outside the
examination hall.

9. Answers marked on the body of the
question paper will not be evaluated.

ijh{kkFkh±lkBh lwpuk
1. ;k ikukojhy ojP;k dksiÚ;kr vkiyk vklu ÿekad

rlsp vki.kkl fnysY;k mŸkjif=dspk ÿekad
R;k[kkyh fygkok-

2. iz'uif=dk ÿekad OMR mŸkjif=dsoj fnysY;k
jdkU;kr fygwu R;kizek.ks dkˇk djkok-

3. ;k iz'uif=dsr iÈkkl cgqfuoM iz'u vkgsr-
4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh

pkj fodYi mŸkjs fnyh vkgsr- R;krhy ;ksX; mŸkjkpk
jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks dkˇk
djkok-
mnk- A B C D

tj (C) gs ;ksX; mŸkj vlsy rj-
5. ;k iz'uif=dsrhy iz'ukaph mŸkjs mŸkjif=dse/;sp

|kohr- mŸkjkP;k jdkU;ke/;s ( × ) ( ü ) ( / ) o
vLi"Vi.ks dkˇs dsysys mŸkj xzk· /kjys tk.kkj
ukgh-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. dPP;k dkeklkBh iz'uif=dsP;k 'ksoVh dksjs iku

tksMys vkgs-
8. ;k isijph ijh{kk laiY;kuarj iz'uif=dk o

mŸkjif=dk nksUgh i;Zos{kdkauk ijr djkoh- ;krhy
dks.krkgh dkxn rqeP;k cjkscj ijh{kk dsaÊkckgsj
us.;kl lDr eukbZ vkgs-

9. iz'uif=dsoj n'kZfoysyh mŸkjs riklyh tk.kkj
ukghr-
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